E06-006

Look at this network of resistors
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(a)
What is the total resistance between X and Y?  

(Note: You do not need to use any equation or formula to answer this question.)

Tick ONE box ()


More than 1000 


Between 1000  and 1 


Less than 1 

(b)
Explain how you worked this out:

______________________________________________________________

______________________________________________________________

______________________________________________________________

______________________________________________________________

______________________________________________________________
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How confident are you that your answers to this question are correct? Tick ONE box ()


Very confident
Fairly confident
Not confident
Just guessing
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